Unit 6 Quiz 2

Use the following table to answer the questions below…
Some Lethal Dose Values
	Material
	LD50 (mg/kg, rats, oral)

	Cupric chloride
	584

	Caffeine
	192

	Nicotine
	53

	Arsenic trioxide
	14.6

	Ricin
	0.020

	Botulin toxin
	0.000005 – 0.00005


1. Which of the materials in the chart is the most toxic?

2. How would Arsenic trioxide be classified in terms of toxicity?
3. How would caffeine be classified in terms of toxicity?

4. Are Ricin and Botulin toxin considered to be in the same class of toxicity?

5. Who is the father of forensic toxicology?

6. List the elements of a toxic substance:
7. Anna and Elsa have come up to their most recent crime scene and note a coffee brown vomit with an oniony-garlicy odor.  What most likely poisoned the victim?

8. What is the most abused drug in America?

9. What affects the rate of absorption of alcohol?

10. Which are the psychophysical tests that a police officer may give to an individual suspected of being under the influence of alcohol?

11. Which law is the basis for the usage of a breathalyzer test to determine BAC?

12. What is the legal limit for BAC in all states of the US?

13. What is the ratio of alcohol in the breath to in the blood?

14. What chemical is used in the breathalyzer and changes color from yellow to blue in the presence of ethanol?

15. The breathalyzer test is which type of chemical reaction?

16. For a 160 lb. man what will happen to his BAC as the number of drinks he has increases over time?

17. Are the BAC trends for males and females identical?

18. What would be the BAC of a 136-pound woman who has consumed three, 2oz vodka (40% alcohol content) martinis during her lunch hour? REMEMBER: BAC = (0.085) x (oz) x (% al-OH)
(weight)
19. Should this woman drive?
20. If the woman was a chronic drinker, how long would it take for her to be within the legal limit for driving if she stopped drinking after the three martinis?   REMEMBER: (BAC(t) = .09 - .03t) and BAC(t) = 0.08
21. Answer the following question surrounding a lab analysis done similar to your “Killer Cup of Coffee” Lab.

	Sample
	(y)

Absorbance
	(x)

Concentration

(mol/L)

	1
	0.920
	0.30

	2
	0.625
	0.20

	3
	0.405
	0.15

	4
	0.109
	0.05

	Unknown
	0.713
	???


The linear regression equation is y=3.2885x -.0607

What is the concentration of the unknown sample?

(Hint: solve the linear regression equation for x; show your work)
